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—————————— <& BB | E B | BB - | E - | BB g | E B | E: - | E - |——<HE: -
WESES 97,296 £H 78,766 £F 51,170/ £ H 22,338 2F 6,264 2[F 32,644/ 2FH 22,297 &F 17,615 2H 18,120
1/ ER&R™H 115,301 | R &RTH 97,493 | KBrh 59,052 | &R 36,937 EZR™ 9,282 #rilamh 37,344\ #himTh 27,550 {2 ™ 22,143 REARTH 22,664
2| Kt 115,021 | KR 96,844 |REATH 57,796 3R tH 36,254| KR 9,186/ 2 & 37,301 @& 26,227 K9t 21,831 |f2E™H 22,664
3I]_™ 113,233 =B 94,909| L & 56,794 F0FR LT 35,421 3R 8,925 &LVvi=Fh 37,104 fBHE R 25,637 | Fm#ERT™ 21,128 Kyt 22,387
A =BT 112,402 &t 94,695 =R 56,596 = R 35,264 IUFz 8,846 B IR ANX &R 36,541 | B#[E 25431 | EE\RE™ 20,958| =& 21,268
5| KEMH 111,844 #03xILUTH 92,556 | t2 @ 56,276 T 34,273 #xlUth 8,771 ;E¥ATH 36,370/ =L =FTH 25,381 | El&H 20,805 KPRt 21,245
6| K 109,792| X9 H 92,370| K4 56,082 | KRR 34,227/ 1lLATH 8,644 1 ETh 35,808 ;EfATH 24,975 FEARTH 20,691 /£ &™H 21,014
ki Vakiil 108,878 | K;ETH 92,241 &LV f=F ™ 55,940 | K;ETH 33,097 #nFr LT 8,640 tR#Z[RH 35,633 FAHT 24,465 | KR 20,392 ERET™ 20,659
8|f g 108,277 FH 91,919 &R 55,471 ;& 32,927\ KiEH 8,496 ER[ETH 35,210| #L1R 24,268 | KiET 20211 &R 20,391
9 LET 106,132|BEATH 88,230 |LLUfizTh 54,963 Ko 30,256 | IR&R T 8,457 FkHTH 35,183 | F&H&™ 24159 =R 19,874/ LB 20,330
10| FEARTH 105,801 | $&fE 87,2971 & 54,957 4t LMl Th 29,390/ Jt ALl 8,332 JII&tH 34,818/ Uz 24,143 P TH 19,763 #8:Th 20,028
11| WLuRH 105439\ L& 87,188 &R 54,152/ 1lLATH 29,095 f2[E 8,137/ IUFsh 34,770 ¥ ETh 23,738|[LE™ 19,453 &R TH 19,865
12| R AR X AR 105,149 ;& 86,147| K& 53,787 |{E & 28,925 [L & 8,023 &;Rth 34,572 | BB 23,7304 & ™ 19,397 K:ETH 19,658
13;&H 104,590 F R ARX &F 85,568 | E & 53,656 | #A1LTH 27,487 BEART 7,850 BH&™ 33,418| )15 23,622 | R R ABX &R 19,083 dt ALl Th 19,601
14 f&f ™ 103,737| Lz tH 83,882 | LLTH 53,426 [L&TH 27,192\ Ky 7,818/ KPR 33,143/l 23,602 | LLTH 19,027 FFrLH 19,305
15 #5Em™ 102,056 | LLATH 83,286 | #a LU 52,950 BEATH 26,483 ;FtH 7,733 BT 32,951 &Rt 23,4633t 18,938 P ™ 19,243
16| R 101,225 AL i Th 83,283 #1FxILTH 52,908 | t2[E 26,317 #F 7440 FEmH 32,788 R ZARX &P 23,119 /AL Al h 18,876 | [@LLUTH 19,231
17/ lLAah 100,960 #3LTH 83,029 [#&ETH 52,759 {£ & 26217{E&™H 7,426 | #L1E 32,698 FEm 22,440 ¥ATTH 18,864 #L 1R thH 18,749
18/ AL LT 100,348 EEIRETH 82,939 R 52,710 LUz Th 26,151 | &R 7,305 BX [t 32,621 | KR 22,117 F0gruh 18,629 =LVi=FTH 18,630
194E&8™H 99473{4EE™H 82,426 et 52,605 = AT 25,899 | & LU 7,223 =Bt 32,494 R FTH 21,988/ LA 18,428 EI&H 18,591
20 ¥ UTh 99,198 | #&;ETH 82,350 3R 52,373 2 B 24,711 | & 7,159 3R H 32,285 FHE 21,724 K& 18,188 | F2 [T 18,546
21 BRET 98,602 &iRth 82,280 #¥;Ith 52,291 B I&T™H 24024\ fEE™ 6,874 [ ET 32,174 E¥ ™ 21,596 SLV=FETH 18,184 lLATH 18,408
22|SLVM=FET 98,347 | El&tH 81,832/ JI[I&tH 52,253 BRI ERX & 23,826 f#ETH 6,795 EE'RET™ 32,165/ R 21,575 ETH 17,847|3RtH 18,378
23| ElE™H 98,237 | LT 80,588 | R IR AR X & 52,242 &R 23,613 &40 6,688 ELUTH 32013|[L & 21,545 BERTH 17,761| 2 & B 18,366
24 RIG™H 98,043 RI&™ 80,182 R&RTH 51,986 |23 23,302 t2H T 6,574 KEH 32,006 Kyt 21,419 &t 17,755 & Eeth 18,354
25\ B EM 97971 A& 79,960 ;& 51,828 e R & 23,222 =& 6,533 R 31,962 E BT 21,390 | JI[ W& TH 17,7415 18,253
26 fEIEET 97,912/ ELV=FTH 79,791 ;E¥ATH 51,468 RI&H 23,218 R ERX &F 6,427 FRERTH 31,888| I B 21,332 |1 EmH 17,727 #EA&ERH 18,221
27|)IU&TH 96,963 & #ATH 79,326 | LR 51,017 |#ETHh 23,118 fB#& R 6,369 K 31,832 |RERTH 21,308 | #3ILTH 17,694 &#ATH 18,153
28 [ 95973 A HET 79,054 'R ET™ 50,710 & %0thH 22,733 | BRERTH 6,346 FOFR LT 31,776 | #8ITh 21,299 |4 17,688 #riamh 18,058
29 EHATh 95,045 ¥\ IH 71612| RI&™H 50,459 |[#LLUTH 22,721 RI&H 6,128 FH=TH 31533/ ELUTH 21,231 R 17,440 #3 L th 17,998
30T 94,849 tHIR[RTH 77,323\ AT 50,345 I B 21,259 | #\ITh 6,127 $&RE™H 31,138;Fm 21,067 ;& 17,293 R &R X EF 17,997
31 FRRETH 94,745 | JII&tH 77,287l ETH 50,177 #Ith 20,866 | L f=FE ™ 6,003 B HET 31,137 2@ 20,878 B HET™ 17,271 ;E¥ATH 17,989
2EET 94,353 &% 75217|F&H™ 50,097 FEH 20,854 FEmH 6,022 RI&GTH 30,8441k E ™ 20,801 | = 40TH 17,142\ fk@ETH 17,951
33| FEH 93,694 FEh 74,901 |l B 50,086 | E ER 19,619| )1 H 5976 P T™H 30,806 | =& 20,662 fEET™H 17,070 LUz TH 17,679
34 ETH 93,368| B EXT™H 74,496 ILOT 49,999 JII&H 19,044 EERTH 5911 | ¥t 30,631 K:ETHH 20,568 &R 17,040 &R 17,671
35/ f@HFH 92,742 & 50T 74011 | FEH 49,816 tHHE[RETH 18,702| Z i ETH 5811 ZI&TH 30,620 & LT 20,502 | #L% 16,903 )11 H 17,646
36 BFHM 91,904t H™H 713512 B HE™ 49,490 =LNV=FETH 18,638 = LUTH 5,689 REATH 30,612 FRERTH 20,410\ FEm 16,805 {li&™H 17,633
37 B 91,232 ;E¥ATH 72,955/ 4L i Th 49,476 ELUTH 18,174/ F %™ 5,589 | ¥ T 30,529 #3Lh 20,397 | kAT 16,664 I EH 17,506
38 I B 91,147 K ETH 71,982 #F ™ 49,033 FE =™ 16,798l B f 5,532 [ LT 30,526 | FOFx LT 20,388 | LUz 16,655 |#&;Emh 17,200
39 Bt 90,711 ELUtH 71,091 EBR™H 49,014 F#[E™H 16511 |ERE™ 5423 R¥rth 30,386 EEIR & 20,363 F&™ 16,536 FEh 17,085
40 LR 89,510 F&H&h 70,369 | &HaTh 48867 FFHxT 15,301 | §%[@tH 4937 )KETH 30,248 |RitE™ 20,336 fliE T 16,521 &&H 16,792
41 |hEm™ 89,212 #XHT™H 70,086 | B ETH 48,556 FRAfFTh 15,231l 4651;&H 20,927\ KETH 20,228 | i 16,036 & %0tH 16,751
42| E50th 88,973/ {llE T 69,325 {2 ETh 47438 FREmTH 14,644 FRETTH 4575 EEH 29,922 & 20,178 f@H 15976/ fEETH 16,471
43\ #Fi|mm™ 88,043 | #L1E 68,965 | 2% [# 46,583 ;EHATH 14,097 ;E¥ATH 4,555 I B th 29,680 RI&H 20,0921 B 15,677 F&EH 16,419
44 2B 87,918 it 68,547 | & A0TH 46,351 FkETH 14,047 | F#=H 4536 tEBTH 29,569 EER 19,826 F &= H 15,627 #RERTH 16,309
45 #HEH 87,663 f2&™H 68,485 E LLUTH 46,093 llETH 13,876|t2&™H 4510 BRZE;ETH 28,958| AR TH 19413 EUth 14,888 fBFHTH 15,589
46| FEE T 86,287|F& = 68,022 | B fF 44,895 JKFEH 13,638| #L1R H 4,508 HiiAB™H 28,707 | ETH 18,847 | & h 14,742 B RFH 15,505
47 Bt 84,946 R fFH 67,202 | FFERE=TH 44729 t2ETH 12,587/ )KFtH 4254 1LAOtH 28,501 |lLAT™ 18,357 B FFth 14,726 ELLUTH 15,326
48 | B& [ tH 83,671 ARFH™H 63,862 |f8FH 44,371 AL H 12,463| B fFh 4185 EATH 27,902 S#th 18,295 BRZERth 14,550 B [@tH 15,310
49 B8R 81,759 | B [E 63,396 | fE & 44313 E¥th 12,267 | BT 4,159 f2Hh 27611 |f&8HFH 18,129|7KE th 14,467 {85 14,393
50Kt 78,897 JKE T 61,956 K¥ 42192 HiHEH 12,020 B ¥7mh 3,803k T 27271 AL Al 17614428 14432/ )KEtH 14,346
51 E¥ 76,696 REF 58,893 |/KF T 41,853 B[ TH 11,409 #r8H 3,797 A ETH 27,097 &%0TH 17,467 Rii4&TH 13,057 KEH 14,085
52 HiI¥ETH 75,102 HIfE™ 57,677 RitET™H 40,567 $iath 11,293 |Ril#EH 3,187 & %0h 26,765 ETH 16,307 K¥mh 12,656 | RiI#B™H 14,073
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—————————— <& BB BB g | KB B | E: - | E B | - | E: - <& - |——<HE: -
WESES 2,994 2 [F 2,247 2FH 3,175 2F 1,645 £ H 18,529 £ F 4,848 £ F 2513 2F 7,737 2H 5,429
1/REXRTH 4,854 REARTH 3,566 | REATH 5591 [ & 2,672|lLufizTh 21,558 ##ETh 6,186 | fA1R[R T 3311 F&H™ 9,201 H&H&™ 6,538
2| R 4,704 [ LLTH 3,496 | ALIRTH 5,190 | LUz Th 2492\ F&H™ 21,535 KiEH 6,139l B 3,169 ;E#ATH 9,049 E LT 6,309
3 Emm™ 4,620 BELTH 3,445 K th 4799 iETH 2,471 | AR [R T 20,589 fH#E[R T 5,960 K;EH 3,105 lUFzTh 8,907 Uz TH 6,295
4 [T 4,588 &R 3,403 Lz TH 4,689 HEARTH 2,397 | #LiRH 20,545 | B IR AR X AR 5,756 | #&ETH 2,950 E LUtH 8,761 ;E#ATH 6,215
5| KHmh 4529 RIGTH 3,377 /At il 4379 ALIRTH 2,328 ;E¥ATH 20,413 I ETH 5,743 3R 2,858 | BT 8,527 ALiRTH 6,155
6 &R 4,325 [ & 3227/ {iETH 4,325 ARERTH 2,278 | BE[ETh 20,275 &R 5515 ¥ ath 2,853 #LigH 8,513 | B[ 5,910
7| KBRH 4,284 KBRth 3,196\ [T 4124 F#F™ 2,181 L& 19,886 B H B 5,498 = LLUTH 2,844 | &R 8,284 EHnth 5,860
8|[LET™ 4,246 Ko th 3,142 5¥ATh 4,004 KRt 2,097 & ETh 19,706 fHFTH 5,382 ;E¥ATH 2,781 8,276 K:EM 5,833
9| KiEM 4,146 {EBH 3116 Ko 3,922 E&TH 2,031 |11 tH 19,677 3Rt 5332 E&x M 2,762 K;Eth 8,185 #Fhiath 5819

10 #3iTTH 4102 ¥;Ith 3,071 3 3911 S 1,998 E LUTH 19,620 ;E#ATH 5307 t&H 2,733 &R 8,117 Ik Eth 5,761
1MERET 4,084 S50TH 3,013 & 3,907 (& 1,948 KiZEMH 19,603|F &= TH 5,251 | lLUfizTh 2,693/ I B h 8,093 ;&M 5,675
12 &EBH 4,056 ¥ LU 2,989 HE&HH 3,836 | [ LLTH 1,944 | R #R X &R 19,582 ELUTH 5242 FET 2,685 & H B 8,086 &R h 5,659
13\l 4,052 =Bth 2,939 @ LLTH 3,725 AT h 1,913| 8 19,527 [ & 5233| L& 2,675 #Fiath 8071 & E™ 5,615
14| & %0 4,046 = LUH 2,932 AR 3,601 dL A h 1,832\ #Friam™ 19,496 FEh 5204 t2 & 2,671 BT 8,032 HH#EE ™ 5,594
15/ LH 4,030 K;EH 2,922 ETH 3,588 |&LV\=FTH 1,808/ t2&TH 19,433 | )15 H 5,182 | B [ETh 2670 [LE™ 7974|BEARTH 5,571
16{£E™H 3,959 E#th 2,824 | FnFx Ut 3,415 FnFruh 1,794/ f8HH 19,230|t2&™H 5,167 &% 2,670 E¥ETH 7,943 K& 5,565
17| R&kmH 3,939 fEETH 2,810/ & %0H 3,326 #xLlh 1,768| I B TH 19,165 ZRBTH 5131 | IR AR X &R 2,652 k& 7,805 KR 5,541
18|EEH 3832 ERE™ 2,788 | B[ 3,291 HFFTH 1,760/ &Rt 18,945 £ Rt 5079/ 2 ET™ 2,651 f8FH 7,803| B¢ 5,496
19 & 3,792/ 1lLAtH 2711 1E&Th 3,284 #hETH 1,750/ [ &TH 18,944 | %[ ™h 5057 =Rt 2,563 KB 7,761 ILA ™ 5,494
20 &#ATh 3,766 | #NFx LT 2,766 ¥\ TTH 3,251 & 1,743 2 HEH 18,917 Hi#B™H 5,050| FE&R =T 2,543 Ri&™H 7,758 3R 5,455
21| U 3,739| AR 2,751 | K& ™H 3,228 Kth 1,737 FFH 18,753 |8 FH 5012| &R 2519/ BB 7,741 488 5,438
22 ‘EI&TH 3,556 tHIEE T 2,694 =R 3,220 B[ th 1,733/ &L V=FH 18,556 Jt L T 4,945 B 2512/ SLV=FH 7,725\ f AT 5,435
23 AT 3,488 A HE™ 2,692(lLAT™ 3211 AT 1,731t 18,538 | B RAH 4,936t fuin T 2,508/ 1lLAT™H 7,720 ¥ 5,418
24\ f@HH 3,426 f2RETH 2,689 |f@FHH 3197 EIRET™ 1,719 18,444 {8 4914 HiItB™H 2,498 t2ET™H 7,656 |Il& T 5,407
25\ B EM 3,380 I B h 2,658 ¥ALLTH 3,188 =R 1,716 F&EH 18,265/ /K tH 4,870/ ELV=F 2,495 )11 TH 7644 =BT 5,382
26 db A h 3,367 ZI&TH 2,614 BFFTH 3,037 &%0th 1,706 | KB 18,176 & #ATH 4827 #FETH 2,489 FETH 7,639 FEE ™ 5,377
27i&m™ 3,364 ;Fm 2,560 fEET™ 3,035 f2F# 1,655 FR &R 17,897 REFth 4827 LETH 2,489 | FH =T 1618/[LE&™ 5,359
28 FnFr L 3,315 f@H 2548 {2 ETH 2,994 Friath 1,636 K& 17,861 | &LVi=Fh 4,805 R¥rh 2,478 #HETH 1614 f8H™H 5,348
29 fHIERET 3,308 #FTh 2,480 | F%[E™H 2,910 &R 1,601 | =&RTH 17,808 | #r:8h 4,773 )11&H 2,469 HFFTH 7,600\ SLV=E T 5,294
303 3,308 ##ETh 2477 R FE X EB 2,865 & 1,598 B¥mh 17,803 KBth 4,724 S H 2445 ERtH 7,576| LU 5,275
31|1&E™ 3,263 & 2,466 =& 2,826/ 1LAT™H 1,522 B FTH 17,744 ¥A 1L TH 4,700 #1Fx L 2,425 1R 7,572| )11 1& T 5,269
32| R ARX &R 3,253 )11 TH 2,457 ®kETH 2,785 FEH 1,501 lLAaT 17,674 | lLFzTH 4,668/ KT 2,416 ¥ ITh 7,560 FEH 5,265
33| I B 3,149 |ELV=F T 2,410 K:EMH 2,781 &Rt 1,496 #XE T 17577 l&EH 4578 2,402 & ETh 7,498 FnFrILTH 5,159
34| )1|&TH 3,110 BRZ;ETH 2,398 |&LV=FE T 2,779 R R AR X &R 1,444 BEAKTH 17570 &F&%H 4,560 KPR 2,383 R¥rh 7432 |1 ET 5,159
35|&LV=F T 3,086 At A h 2,242 | BREATH 2,776 RERTH 1432|E=RB™H 17,493 4,530 ¥ LTH 2,370 R 7 ARX &B 7,278 B fF™H 5,089
36| FF™ 2,934 B ARX &R 2,202\ &R 2,730 Ik B h 1,403 | BijETH 17,425 K5 4,459 1LOtH 2,359 KA th 7,232/ L AT 5,038
37| TH 2,899 E#[ETH 2,192|;%H 2,637 28R 1,390| KHrh 17,422 ¥0ITH 4,440 R &R TH 2,344 FF LT 7,225 R& 5,019
38 ;EMATH 2,863 ;E¥ATH 2,192|)1|I&H 2575 {8 E&™H 1,376 | #8iTTH 17,237 | B fFTh 4,427t 2,330 K&th 7,158/ KBt 4,926
39| FEH 2,259 FEH 1,729 BELtH 2574/ fEET™H 1,340/t AL Th 17,064/ lLOTH 4393 Ko th 2,325 LUt 7,155 U 4872
40 B fFTH 2,246 HFFTH 1,691 B HEM 2,555 &M 1,337 58 ™hH 17,047 #LiRH 4289 RI&H 2,279 HitE™H 6,995 =& 4867
41 E¥H 1,874 gil4&TH 1,390 EIRE™ 2,509 HE#R[RTH 1,330/ f#F th 16,959 R tH 4,265 #LIEH 2277 &50tH 6,977 XHm 4,858
42 Bt 1,862 REFH 1,388 | ## ;B 2,433 EEH 1,308/ K E TH 16,940 | t2[E 4210/ ¥ Th 2,268 At A Th 6,953 {&fE 4823
43| FE =T 1,834|7KEtH 1,327 |$8mH 2,389 )1l I5TH 1,293 BELH 16,736 B HRH 4,163 FKETH 2,266 = & TH 6,902 S0 4778
44Kt 1,751 k& 1,287 E U 2,278 ETh 1,220|f&fE T 16,440 | #03xILUTH 4,147 ERT 2,264 t&2RE™H 6,853 & ™ 4,730
45 FLIE ™ 1,711|F&E™H 1,263 HERE TH 2,239 BHET 1,205| B & 16,404 FATH 4118 AFFTH 2234 P TH 6,828 &ATH 4,719
46 iE™™H 1,653 LM% TH 1,253| FEH 2,234 KFth 1,182\ #31uh 16,169 REATH 3,986|BEATH 2,159 R&RTH 6,794 EIRET™ 4,715
47 lLufsth 1,617 #Figmh 1,065| & ETH 2,230 E¥h 1,158 #0FR LT 15,721 | fEE™ 3,856| = & 2039{EE™ 6,786 | R AR X &R 4,675
48 | FhimT™ 1,484| Lz TH 1,055 IR BT 2218 KiETHh 1,155 &t 15,719 B H 3,768|fEET™H 1,985 EIRE™ 6,750 | BB 4,622
49 FETH 1,407 | B[ mh 985 HItE™ 2,032 fiitE™H 1,074 EIRE™ 15,663 EEIRET™H 3,678/ LT 1,899 S#th 6,734|fEET 4,580
50 | %[ 1,333 #EH 975|/KF ™ 1,852 E LU 1,062 [ LU 15,385 | [@ LU 3,646 EEIRE™ 1,835 #3LLUTH 6,660 &R 4551
51 5&Hm 1,277 &&F%™H 901 ;EM T 1,779| F&ETH 1,024 & %0tH 14,962 & %0th 3,400 & &0TH 1,748|fEE™ 6,343 BREHTH 4,500
52|f@Eth 1,171 /8B 788 K¥rmh 1,710 JE#ATH 869 | fEE™ 14,393 AR ERTH 2,886 FRERTH 1,683 ARERTH 6,007 #F ™ 4,460
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WESES 2,649 2[F 1,569 £ H 3,294
1 WLURsH 3,566 | LLUfsTH 2,233 AR ERTH 6,186
2| B3 3,235 BRE;TH 2,073 | ALIRTH 4,905
3 fREIRE T 3,180 HHIER ™ 2,003 FFHFH 4,695
4 BHT 3,080 F&RA™H 1,975 & 4670
5 READX &B 3079 @B 1,913 ILfizhH 4417
6 #imm 3076 F&HM 1,848 f@H ™ 4,148
7)1 3,041 ALIRTH 1,847 | B[ TH 4,009
8 tgEm™ 3,030 #FrBth 1,840 )11 I&H 3,810
9 R 2972 lEH 1,797 428 3,579
10| FEARTH 2,948/ )11 H 1,785 #r::mH 3,576
11 E¥MH 2,933 FkETH 1,739 | E & TH 3,536
12| Bt 2,929 & 1,727| KB 3,527
13/ #&EH 2,925 ;EfTH 1,715 R B X &B 3,469
14 #EATH 2,922 REARTH 1,709| K& th 3,336
15| FFEH 2,908 f#EH 1,679 | HHE/RETH 3,332
16|&LM=F ™ 2,903 SLV=F 1,669 | B4 H 3,293
17 4L TH 2,838 B ARX &R 1,664 [ & 3,278
18{lE™ 2,834/ lLOt 1,620;EH 3,204
19 AREE™TH 2819/ &Rt 1,618 ;E#ATH 3,124
20 | & [EH 2,802 | BE [T 1,609 | =LV =F 3,124
21| luaw 2,791 EFH 1,608 HfFh 3,101
22 Bl 2,715 FEh 1,583 |#Emh 3,096
23| FHREH 2,703 ELUTH 1,574/ 3,079
24 EBh 2,621 KEMH 1,565 | &R TH 3,037
25 HFFTh 2616 F& =™ 1,556 £ & H 3,023
26| € R™ 2611 =BT 1,552 |RiItE™H 3,002
27 #iIh 2,570 I B h 1,545| FEH 3,002
28 | f&RE™H 2569 B HE™ 1,518/ B H 2,995
29 1R 2,556 | [LE&TH 1513/ &Rt 2,971
0 BHET 2,551 |3 1,507 [ #XEA T 2,923
31 dbmth 2,504 f2[EH 1,496 RIGH 2,910
R2ERET 2,470 AL A Th 1,495 Z lUtHh 2,902
33| Kot 2,469 ¥\ TTH 1,482 | fERTH 2,895
34| ;&R 2,462 | ILTH 1,480| K;EMH 2,831
35| [LET™H 2,459 fEEB™H 1,476 t2RETH 2,808
36| K:EMH 2,447 1,472| 2 HEH 2,783
37 2,434 K th 1,469/ ILAH 2,769
38| MFET™H 2411 BRFTH 1435 BEIRE™H 2,764
39 EHRH 2,390 &R TH 1,421 F#EH 2,693
40 RiI#E™H 2,379 | f2FH 1,386 | #a Ll 2,686
41 kKFPth 2,365 B 1,372| ¥ H 2,667
42|fE LUt 2,339 EERET 1,351 b 2,662
43| B h 2,334 HitB™H 1,344 KEH 2,572
44{EE™H 2,324 =&TH 1,309| & %0th 2,565
458 FH ™ 2267 P 1,295 KBt 2,474
46| fEET™H 2,207 KFETH 1,276 F 2,337
47| =& ™H 2,199 KBrth 1,268 | #0Fk L TH 2,299
48| KPRt 2,163 FOFrU™H 1,248| [ LU H 2,246
49 Sath 2,152 5¥ATH 1,240 =BTH 2,164
50 #ALUTH 2,124|fEET™ 1,214 EERTH 2,152
51 #08kLth 2,050 #3 LT 1,179 &#th 2,006
52 & %0t 2,020 S4%0tH 1,103 5B 1,986
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